
Note: You have to hand in your answers to the weekly questions one week after the second lecture of the week.

Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides (twice).

- Looking at them as little as possible, answer the questions.

The answers of Week 2’s questions should be handed to me at ISEG. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Reserve 4 hours per week to answer the questions. If you answer them in a serious way, you’ll need to study much less for the exam.

Please write WEEK 2 in bold at the beginning of your answers.

Week 2
Note: M1=C + CD; M2= C+CD+SD.
Ch. 2:Can market mechanisms solve unemployment?

Lecture 3:
1. What is the fundamental question of macroeconomics?

2. According to the NC school, how do market mechanisms solve involuntary unemployment?

3. Why is there unemployment according to the NC school? Illustrate in a graph.

4. Do market mechanisms solve involuntary unemployment according to the NK school? Explain. Illustrate in a graph.

5. According to the NK school all unemployment is of the involuntary sort. Do you agree? Explain and illustrate in the previous graph.

6. Why did nominal wages fall in the presence of unemployment before WW2 and have ceased to fall since then?

7. “Even if nominal wages fell in the presence of unemployment, firms would not hire more workers.” Do you agree? Explain.
Lecture 4: 
8.If the value of aggregate demand is 100 euros, what will be the value of aggregate nominal income? Explain.

9.Suppose that AD is insufficient to generate full-employment of K and L.

a) According to NCs that situation will bring about a decline in the price level. Why? (Two reasons).

b) According to NKs that situation will not bring about a decline in the price level. Why? (Two reasons).

c) Which will be the effect of a decline in the price level on the level of unemployment according to NCs?  And according to NKs? Explain

10. “If all goods and services become cheaper, the purchasing power and thus AD will rise.” Do you agree? Explain.

11. If the prices of all gods and services fall, aggregate nominal income will necessarily fall by the same proportion. Why?

12. Key question: Suppose that AD is insufficient to generate full-employment of K and L. Which will be the effect of a decline in the price level on the level of unemployment according to PKs?  Explain.

13. Present a historical example that gives support to the PK view.

18. If the price a good falls, then its demand rises.

a) Why?

b) Why doesn’t the same happen when the price of all goods falls?

19. Leave aside all the other effects of falling prices. “If prices fall by less than nominal wages, then consumption rises”.  Do you agree? Explain.

20. a) According to the Pigou Effect, falling prices may contribute to reduce U. why?

b) What’s the problem with that argument?

21. a) According to the Keynes Effect, falling prices may contribute to reduce U. Why?

b) What’s the problem with that argument?
c) Through which channels do falling prices lead to a decline in the quantity of money in the economy?
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